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General Instructions :
The question paper comprises of two sections, A and B you are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.

All questions of section A and all questions of section B are to be attempted separately.

Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.
Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

10. An additional 15 minutes time has been allotted to read this question paper only.
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10.

11.

SECTION - A

Draw an isomer of the following compound

HHHHH

H H

I
-C-C-C-C-C-
I
HHHHH

An object of size 2 cm is placed at 25 cm infront of a concave mirror. If the magnification
produced by the mirror is 4 what is the size of the image ?

What are biodegradable substances ?

A list of organisms is given below :
Peacock, snake, grass, frog, grasshopper
Construct a food chain showing snake at the fourth trophic level.

Five elements A, B, C, D and E have atomic number 2, 9, 11, 12 and 20 respectively.
(i)  Which pair of elements belongs to the same group ?
(i)  Which pair of elements belong to the same period ?

State modern periodic law. Where are (i) metals, (ii) non - metals and (iii) metalloids
located in the periodic table ?

What is vegetative propagation ? List its any two advantages.
List the four tools used to study evolutionary relationships.

Why do coal and petroleum contain nitrogen, hydrogen and sulphur in addition to
carbon ? Name the gas which on burning coal and petroleum leads to global warming.
Under what conditions is carbon monoxide released when fossil fuels are burnt ?

List any four advantages of storing water as groundwater and not surface water.

An object is placed at the following distances from a concave mirror of focal length
15 cm.

(@) 10 cm (b) 20 cm () 30 cm (d) 40 cm
Which position of the object will produce
(1) Virtual image

(2) A diminished real image
(3) An enlarged real image
(4) Animage of same size
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12. (a) What is meant by refraction of light ? 2

(b) If on applying Cartesian sign convention for spherical lenses the image distance
obtained is negative, state the significance of the negative sign.

13. Name the following parts of a human eye - 2
(1) A thin membrane through which light enters the eye.
(2) Dark muscular diaphragm that controls the size of the pupil.

14. (i) Which of the following does NOT burn with a yellow flame ? 3
CH,, CHy, or G,H,
(ii) Write a chemical equation to show the conversion of ethanol to ethanoic acid in
the presence of an oxidising agent.
(iii) Name the products formed when methane undergoes complete combustion.

15. Consider the part of periodic table given below and answer the following questions 3
Group

= 1 2 13 14 15 16 17 18

| Period
I a j
II b e g h k
I c f i 1
I\Y d

i)  The atom of which element is smaller in size ‘e’ or ‘h’ ?
ii)  Which element is most electropositive in nature ?

iii) Which element has only one proton in its atom ?

iv) What is the valency of ‘g’ ?

v) How many valence electrons does ‘g” have ?

vi) Name the element which is a metalloid.

16. (a) Draw longitudinal section of a flower. Label on it the following parts : 3
ovary, filament, sepal

(b) Name a unisexual flower.
17. What is placenta ? Mention its any two roles during pregnancy. 3

18. (a) Which of the following traits cannot be passed on to the progeny ? 3
Justify your answer.
(i) Rudimentary eyes of Planaria
(ii) Absence of tail in a mouse (after surgical removal)
(iii) Low weight of a starving beetle.

(b) Name the vegetables that can be obtained from wild cabbage by artificial selection
when farmers opted for

(i)  Arrested flower development of wild cabbage plant
(ii) Swollen parts of wild cabbage.
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19.

20.

21.

22.

23.

24.

25.

Explain how is the sex of a child determined genetically in human beings.

Find the size, nature and position of image formed when an object of size 1 cm is
placed at a distance of 54 cm from a concave mirror of focal length 36 cm.

(@)
(i)

What is meant by dispersion of white light? Draw a diagram to show the
dispersion of white light by a glass prism.

Light of two colours A and B pass through a prism. A deviates more than B from
its path of incidence. Which colour has a higher speed in the prism ?

Why is the colour of clear sky blue ? Explain in brief.

(a)
(b)

RINSARCHINS

—_
NORRCIINCS

(i)
(i)
(iif)

What is detergent chemically ? Why are detergents effective as cleansing agents
even in hard water ?

Explain the mechanism of cleaning action of soap.
OR
How is vinegar made ?
What is glacial acetic acid ? What is its melting point ?
Why are carboxylic acids called weak acids ?

Write the name and the formula of the two compounds formed when the ester
CH,;COOC,H; undergoes saponification.

Draw a diagram to show the human female reproductive system. Label the
following parts :

fallopian tube, ovary, uterus, vagina.
What is copper - T ? In which part of the reproductive system is it placed ?
Name two sexually transmitted diseases.
OR
How does pollination differ from fertilization ?
Describe the changes that occur in a flower after fertilization.
Explain the terms
(i) Plumule
(i) Radicle

Describe an activity to find the approximate value of focal length of a concave
mirror.

What happens to the size of the image of an object when it is moved gradually
away from a convex mirror ?

In an experiment to study refraction through a glass slab, it is observed that a ray
of light undergoing refraction emerges parallel to the direction of incident ray.
Why does it happen so ? Explain with the help of a diagram.

OR
Define principal focus of a concave mirror.
Why do we prefer a convex mirror as a rear view mirror in vehicles ?

We wish to obtain an erect image of an object using a convex lens. Draw a ray
diagram to show the image formation in this case.
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26.

27.

28.

29.

30.

SECTION - B

Sodium hydrogen carbonate solution is added to dilute ethanoic acid. It is observed
that :

(a) agasevolves

(b) asolid settles at the bottom

(c) the mixture becomes cool

(d) the colour of the mixture becomes light yellow

5 mL of dilute acetic acid was added to 5 mL of water and the mixture was shaken for
one minute. It was observed that :

(a) a precipitate appeared in the test tube

(b) the acid formed a separate layer at the bottom
(c) water formed a separate layer at the bottom
(d) a clear solution was formed

Out of the following pairs of compounds, identify the one where both the compounds
form coloured aqueous solutions :

(@) Aly(SOy);, FeSO, (b) FeSO,, CuSO,
(c) ZnSO,, FeSO, (d) ZnSO, , CuSO,

Aluminium sulphate and copper sulphate solutions were taken in two test tubes I and
II, respectively. A few pieces of iron filings were then added to both the solutions.
The four students A, B, C and D recorded their observations in the form of a table as
given below :

Student Aluminium sulphate solution (I) Copper sulphate solution (II)

A Colourless solution changes to light [Blue colour of the solution is
green retained

B Colour of the colourless solution does |Blue colour of the solution changes
not change to green

C Colourless solution changes to light  |Blue colour of the solution changes
blue to green

D Colour of the colourless solution Blue colour of the solution fades
remains unchanged away

The correct set of observations have been recorded by student
@ A (b) B (© C (d D

After dipping a copper plate into a beaker containing a green solution and observing
the change(s) if any, Ramesh expressed his observations in the form of a chemical
equation as given below :

Cu + FeSO; - CuSO, + Fe

Which of the following statement is NOT correct ?
(a) The reaction does not occur

(b) Cu is less reactive than Fe

(c) The green solution is FeSO,

(d) Feis less reactive than Cu
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31.

32.

33.

34.

The following are the sketches made by some students. The sketch not illustrative of
budding in yeast is

The diagram given below illustrates

(F

bud formation in yeast
binary fission in Amoeba
c) formation of daughter cells in yeast

d) pseudopodia formation in yeast

In binary fission

(a) the parent organism divides into two daughter cells and each one then grows
into an adult

(b)  the parent organisms divides into many daughter cells and each one then grows
into an adult.

(c) Both (a) and (b)
(d) None of the above

A student is given permanent slide showing budding in yeast.
The following are the steps in focussing the object under the microscope.

(i)  Place the slide on the stage ; look through the eye piece and adjust the mirror and
diaphragm to get illumination

(i) Look through eye piece and raise the objective using coarse adjustment until
object is focussed

(iii) Make the focus sharp with the help of fine adjustment

(iv) Look through the eye piece and move the slide until the object is visible
The proper sequence of steps is

(@) () (i), (v), (i) (b) (i), (i), (iv), )

© (), (i), @) @) @ () Gv), (), (i)
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35. The following data was obtained on performing an experiment for determining the
percentage of water absorbed by raisins.

Mass of water in the beaker = 50 g

Mass of dry raisins = 20 g

Mass of raisins after soaking in water = 30 g

Mass of water left in the beaker after the experiment = 40 g

The percentage of water absorbed by raisins will be

(50 — 40) g (50 — 40) g

X 100 X 100
(a) 40g (b) 50 g
© —(30;)20) & %100 (d) (30=20)g 4y
g 20g

36. At the end of the experiment to determine the percentage of water absorbed by raisins,
the raisins are wiped just before weighing. This is to ensure that

(a) Hands do not get wet
(b)  The raisins lose water before weighing
<)

(
(d) Only water absorbed by raisins is weighed.

The weighing balance does not get wet

37. An experiment to trace the path of a ray of light through a glass slab was performed by
four students I, II, I1I, IV. They reported the following measurement of angle of incidence
i, angle of refraction r and angle of emergence e. Which student has performed the
experiment correctly ?

Student | Anglei | Angler | Anglee
I 60 ° 35¢ 59 °
II 45 ° 40 ° 40 °
III 35¢ 30° 40 °
1\Y 50 ° 55¢° 50 °
(@) I (by 1 (c) I (d) IV

38.  Which one of the following is the best set - up for tracing the path of a ray of light
through a rectangular glass slab ?

@ I (b) I (c) I d) IV
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39. Out of the following, the best way to do the experiment on finding the focal length of a
concave mirror by obtaining the image of a distant object is to

(a) hold the mirror in hand and keep the screen in a stand kept behind the mirror

(b) hold the mirror in a stand and hold the screen in hand, with the screen in front of
the mirror

() Keep both the mirror and screen in suitable stands with the screen put in front of
the mirror

(d) Keep both the mirror and the screen in suitable stands with the screen put behind
the mirror

40. In an experiment to determine the focal length of a convex lens, a student obtained a
sharp inverted image of a distant tree on the screen behind the lens. She then removed
the screen and looked through the lens in the direction of object She will see

(a) aninverted image of the tree at the focus of the lens.
(b) No image as the screen has been removed

() A blurred image on the wall of the laboratory

(d) An erect image of tree on the lens.

41. Three students measured the focal length of a convex lens using parallel rays from a
distant object. All of them measured the distance as given.

Student A : distance between lens and screen
Student B : distance between object and screen
Student C : distance between object and lens
Which student get the correct focal length of lens ?

(a) student A only (b) student B and C both
(c) student A and B both (d) student C only
-00o0-
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10.
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11.

12.

13.

14.

15.

TRt =g 1 15 cm SIHH T & Teh STadal 34Ul o 9 Fefafed 3fEl o @ @

(@) 10 cm (b) 20 cm () 30 cm (d) 40 cm
a%g ot fore feafa # = aren wfafors :
(1) T 2w

(2) Bl IR AT BT
(3) el 3R Srfore BN |
(4) TE] & FHM GBS MHR H1 BT |

(a) W F STYIA W HT A B 2

(b) AfS Tiieia =i < fore i Hord aftarel s erured i T gfafers g ke g
B A TH H0 oA 1 HE © 2

e 3 o ffafed s & 99 fafe
(1) T vael foreet fed St Terrer 431 H Jorer ol 2|
(2)  ShTeT URITT ULT S SAE % AR 1 WeS R R 2

() TrAfafea o «F dielt @t & @1 T2 St ?
CH,, C,H,, 2T C,H,

(i) TIATA I UAATESH o7 H, fordlt sifafieRRes ot Iuftafa § uRafda s <o & fag,
qErETeh FHeR fafee |

(i) HT o U1 TgT | S aTel IA1G1 o A1 fafaw |

3T "R o 1< T 7T 9mT % SR W g e frEfafed weal % sw e

CH

- 1 2 13 14 15 16 17 18
1 K ICK

I a j

II b e g h k

III c f i 1

v d

() eTshH forT I o A FT MHR STIEIHT B 2
(i) T T T HAIH YA YR 2

(iii) Torg a1 % T B Fae Th W[ T2

(iv) ‘g I Harshar forat €2

(v) ‘g H foRa HarSTehdr sorae € 2

(vi) 9 a7 I AW T4 S 39T T |
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16.

17.

18.

19.

20.

21.

22,

23.

24.
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25.

26.

27.

28.
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32.

33.

34.

35.
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IR g AT | IR T4 feU S17Er g 6 A R

fomneff A /9 SR WS & o= g0

fomefiB o iR F = g

fomneff ¢ g siR A & = g

form ferenedt g &0 =t WEl Wik gl 9T <l ST ?

(a) had fammef A gra (b) fa=neff Bwa C 3 & g1
(c) famneff A wd B & g/ (d) haa fa=neff C gra

-00o0-
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